| 2 | 3 | 4 5 | 6 | 7 | 8
15
7,5
4,3 20 M6x1 - 6H
o D
M4x0.7 - 6H )
—i
© H h ~ T
= o © == I =T S "
R3 e ¥ === — ~
¢ \( | 1 >
C 1 |
JE— Z
| LN | i5 + 0,000
00 A-A(1:1)
97 |
84,5 | o
2 16 i
50 @19
/120 |
' LI M16x1.25 - 6g !
——— N | N
— ! |
8 | B | B
|| | || LN
Ly 8 + 0,000 NP
| \_%8 15 40,050 BB(1:1 J,-\J N _miEgﬂ
R - ( . ) o1 ' (3'
8
15 Ny ¢6’1
75 M4x0.7 - 6H 2) w
M16x1.25 - 6H ] |
g
Ny
— [00)
ol 7o
/119 -
-, ' —
184,5
2 2 ref. note date
. modifications
0,5 X 45 5 122 | 1 5235J0 1:1
- - ofF - 121 2 EN 6082 1:1
— 120 1 S235]10 1:1
6 4 119 3 AISI 304 1:1
6 ] 117 3 AISI 304 1:1
116 3 AISI 304 1:1
R ieces i
.20 1445 20 | e ref. | p! material scale
‘ ‘ 2 GENERAL TOLERANCE mH
(@)]
k?]ilj[ ]j——ul’ TOLERANCE SYSTEM: ISO 2768-2 CLASS H-K-L
Ln —_— _ e e o ] —_— 1_-| DESIGNED FORR. De Salvo
— X I: ' PROMEC DRAW. BY
S || | | S ‘EI‘@ di Gennaro Gianni G. Gennaro
E 5 ) = BIENTINA (PISA)-ITALIA DATE26-02_11 . 1:1
20 TITLE N° DRAW4L T _
LCGT-SAS e CGT.0306-00
DETAILS FILTER-Gr.3 AT 200 A2
| 2 | 3 | 4 5 | 6 | / | 8




